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Chapter 14
Chapter Assessment
ANSWER KEY  


Chapter 5 
Chapter Test A

Multiple Choice

1.
A
2.
A
3.
B
4.
B
5.
A
6.
A
7.
C
8.
A
9.
A
10.
B
Modified True/False

11.
T
12.
F, speciation
13.
F, parasite
14.
F, higher
15.
T
Completion

16.
Mutation
17.
artificial selection
18.
niche
19.
carbon dioxide
20.
Symbiosis
Short Answer

21.
In mutualism and commensalism, both species are unharmed. In mutualism, both species benefit, as in the example of the hawk moth pollinating the flower; the flower is pollinated and the moth is fed. In commensalism, one species benefits while the other doesn’t experience a negative or a positive effect. Trees providing shade and moisture to desert shrubs is an example of commensalism.
22.
Grasslands produce a huge amount of available plant energy, which in turn supports a large number of herbivores, and a higher concentration of carnivores. A forest contains a lot of biomass as unavailable woody material that animals cannot easily consume, so energy remains locked at the producer level.
23.
A chain represents a single avenue of energy transfer. In reality, there are numerous relationships between a single species and the other species in its community, so energy might travel along any of several paths.
24.
Wolverines are probably capable of dispersing over long distances and remaining genetically connected despite spatial separation.
25.
A sudden change in environment might isolate species, or change the genetic composition of the populations by wiping out a certain number of individuals. This could cause genetic drift. The population might also fail to adapt to the sudden change in conditions and go extinct.
Other

26.
one level of producer, and three levels of consumers
27.
The alligator, bobcat, and anhinga probably have lower populations than the other species. These are third-level consumers and most energy has already been lost by the time it reaches their level, so the ecosystem cannot support as many of these animals as it can others.
28.
Other predators, such as bobcat and anhinga, might increase because there is less competition for the resources that they rely on. Prey species such as frogs, moorhens, and bass might also increase, which would put more pressure on the crayfish and flagfish. This in turn might cause an increase in plants and algae.
29.
There are many species in this system, but each species is important. If you remove even one, it has long-term effects over the entire ecosystem, even those species with which it doesn’t directly interact.
30.
The arrows represent energy flow.

Essay
31.
The area that experiences a forest fire will undergo secondary succession building on the parts of the community that survived the fire. This area will likely regrow more quickly. The area that has been glaciated will experience primary succession, and will probably regrow more slowly. Pioneer species must colonize from new areas, which takes longer.
32.
Species went extinct at the end of the last ice age because they couldn’t adapt fast enough to the changing climate and environment. Species that had evolved to thrive in ice age conditions could no longer do so. These species were most likely specialists. On the other hand species that were generalists managed to adapt to the new conditions successfully.
33.
The graph shows the way in which wolf and moose populations are interdependent. Even though wolves prey on moose, the wolf population is controlled by the number of moose. Wolf populations can only increase when moose populations increase, but they won’t be able to increase past a certain point. Likewise, the wolf population regulates the moose population. You can see this especially well after the disease outbreak, when the wolf population crashes and the moose population rises.
34.
This is an example of trophic cascade. Elk eat willows, and with a large population of elk, the willows were overgrazed and the bird had no habitat. Following the reintroduction of wolves, the elk population was reduced and the willows had a chance to regrow. The bird was able to return to its former habitat. This shows how a top predator can have an effect on species that it doesn’t necessarily even interact with, structuring and regulating diversity within the entire ecosystem.
35.
Invasive species are usually able to outcompete species that are occupying a similar niche. By understanding the way in which resident species occupy their niche, we might be able to predict whether a new species will be able to take over. This might also allow us to determine a strategy for controlling a species that is already invasive.
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